dllog-20080204-171730.fits - OPD error. Test description: Contiguous tracking at -10mm/s (1 of 5). (Test Run failed)

OPD error: Mean = 5700.3nm (passed); pk-pk = 730.66nm (failed); RMS = 113.34nm
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RMS values of 10ms segments: Mean = 7.87nm; Median = 7.45nm; Mode = 6.58nm; RMS = 2.16nm(passed).
Number of times threshold exceeded for 10 segments or more = 3 and total time whilst exceeded = 200ms (failed).
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RMS values of 35ms segments: Mean = 9.57nm; Median = 9.04nm; Mode = 10nm; RMS = 2.55nm (passed).
Number of times threshold exceeded for 10 segments or more = 0 and total time whilst exceeded = Oms (passed).
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RMS values of 50ms segments: Mean = 10.8nm; Median = 9.99nm; Mode = 10.2nm; RMS = 3.26nm (passed).
Number of times threshold exceeded for 10 segments or more = 0 and total time whilst exceeded = O0ms (passed).
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10ms segment data (passed)
0.867% > 15nm and 0.117% > 30nm.
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35ms segment data (passed)
0% > 41nm and 0% > 82nm.
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50ms segment data (passed)
0% > 55nm and 0% > 110nm.
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